Law Office of Robert W. Bauer, P.A. 2815 NW 13th Street Suite 200E Gainesville, FL 32609 Phone: 352-375-5960 Bauerlegal.com Email:

Mr. Neil Gillespie 8092 SW 115th Loop Ocala, Florida 34481

Bill Number: 1098 Date due: 8/10/2008

 SUMMARY
 Previous balance:
 \$8,007.27

 New charges:
 1,992.44

 Payments applied to cases:
 0.00

TOTAL DUE FOR ALL CASES:

\$9,999.71

Previous balance:

\$8,007.27

Date	Description	Pa	ayments		Amount
	No new payments received for this case	е			
				Total payments:	\$0.00
Date	Description	C	harges		Amount
6/17/08	Transcript Original of Hearing before Ju 10/4/2006. Transcript e-mailed to client Court Reporting. Invoice # 58319	-			\$81.30
			BEL		
6/24/08	Preparation Record on Appeal Fee from Co.	n Hillsb	orough		185.33
			BEL		
6/30/08	Locating record, call to clerk about the r			0.2 hr	10.00
		AGB	\$50.00 /hr.		
6/30/08	Adding record citations to appellate brie summary of case and facts, finalized tal and citations.			1.2 hrs	120.00
		AGB	\$100.00 /hr.		
6/30/08	Receive and review e-mails from Mr. Gi unpaid invoices from First Choice Repo		re:	0.1 hr = \$5.00	
	Authorization for credit card payment giv Choice.	ven to	First		
		BEL	\$50.00 /hr.		
6/30/08	Review citations added to appeallate broken	eif		0.3 hr	75.00
		RWB	\$250.00 /hr.		
7/01/08	Filed client notes, reassembled client pr documents.	roductio	n	0.2 hr	10.00
		AGB	\$50.00 /hr.		
7/01/08	Edited statement of the case and facts.			0.25 hr	25.00
		AGB	\$100.00 /hr.		
7/02/08	Telephonic conference with opposing re changes in orders and final judgment.	egardin	g	0.2 hr	50.00
		RWB	\$250.00 /hr.		
7/03/08	Legal research for Motion for Relief from	n Judg	ment.	1.2 hrs	120.00
	-	AGB	\$100.00 /hr.		
7/03/08	Copies of initial brief.			150 @ 0.10 each	15.00
			AGB		
7/03/08	Postage.			1 @ 7.82 each	7.82
rinted: 7/	24/00		spia Nail	Dog	a 2 of 6

CASE SUMMARY FOR Libel

•

•

05CA007205 - 060703

Printed: 7/31/08

Gillespie, Neil

Page: 2 of 6

			AGB		
7/03/08	Filed client pleadings, documents, and correspondence.			0.1 hr	5.00
	•	AGB	\$50.00 /hr.		
7/03/08	Review e-mail from client. Locate Fact In Sheet and e-mail.	forma	ation	0.2 hr	15.00
	1	NDR	\$75.00 /hr.		
7/07/08	Filed client documents.		\$50.00 "	0.1 hr	5.00
7/07/08	Filed and reorganized client pleadings.	AGB	\$50.00 /hr.	0.1 hr	5.00
1101100		AGB	\$50.00 /hr.	0.111	5.00
7/07/08	Filing client documents and pleadings		•••••	0.1 hr	7.50
	1	NDR	\$75.00 /hr.		
7/07/08	Receive and review letter from opposing regarding proposed orders.	to co	urt	0.1 hr	25.00
			\$250.00 /hr.		
7/07/08	Office consult with Senior Attorney (RWB new assignment on case.			0.1 hr	20.00
_ / 2 2 / 2 2			\$200.00 /hr.		
7/08/08	Drafting Motion for Relief from Judgment		\$100.00 /hr.	0.3 hr	30.00
7/09/08	ح Tasked by RWB to draft motions for reco discussed motion for relief from judgmen	nside		0.3 hr	30.00
			\$100.00 /hr.		
7/09/08	Call to clerk to locate order not yet receive	ed.		0.2 hr	10.00
	A	AGB	\$50.00 /h r .		
7/09/08	Drafting Notice of Compliance.			0.25 hr	25.00
_/			\$100.00 /hr.		
7/09/08	Task Law Clerk (AGB) with Researching Motion for Relief from Judgment.		-	0.2 hr	50.00
			\$250.00 /hr.	0.44	
7/09/08	Receive and review Order Granting and I Part Defendatns' Motion for Judgment on	the F	-	0.1 hr	25.00
7/09/08	Office consult with law clerk AGB regardin			0.2 hr	50.00
	Motion for Reconsideration and Motion fo Judgment.	-	-		
	R	WB	\$250.00 /hr.		
7/10/08	Review of BRC pleadings for motions.	~ ~	* (0 0 1	0.3 hr	30.00
7/10/09			\$100.00 /hr.	0.1 hr	7.50
7710/06	Adding Order Granting and Denying in Pa Defendants' Motion for Judgment on the I client's correspondence log.		lings to	0.1 11	7.00
		IDR	\$75.00 /hr.		
7/11/08	Copies.			32 @ 0.10 each	3.20
Printed: 7/3	31/08	Gille	espie, Neil	Page: 3	of 6

•

		AGB		
7/11/08	Postage.		1 @ 0.42 each	0.42
		AGB		
7/14/08	Review of file in preparation of drafting Motion Rehearing. Drafted Motion for Rehearing.	n for	1 hr	100.00
		\$100.00 /hr.		
7/14/08	Legal research.	• • • • • •	0.5 hr	50.00
=// //00		\$100.00 /hr.		(0.00
7/14/08	Filed client pleadings; re-organized pleadings		0.2 hr	10.00
74400	AGB		0.4 h-	05.00
7/14/08	Receive and review Settlement Statement wit choice Reporting.		0.1 hr	25.00
	RWB	\$250.00 /hr.		
7/15/08	Filed client corespondence and pleadings.	•	0.1 hr	5.00
	AGB			
7/15/08	Adding Settlement with First Choice Reporting client's correspondence log.	-	0.1 hr	7.50
	NDR	\$75.00 /hr.		
7/16/08	Conference with Associate Attorney (TMU) at Motion for Rehearing.	pout	0.9 hr	90.00
	AGB	\$100.00 /hr.		
7/16/08	Located closing statement in client document		0.3 hr	30.00
		\$100.00 /hr.		
7/16/08	Legal research.	• · · · · · · ·	0.1 hr	10.00
		\$100.00 /hr.		
7/16/08	Conference with Associate Attorney (TMU) re Motion for Rehearing.		0.2 hr	20.00
	AGB	\$100.00 /hr.		
7/16/08	Re-drafted Motion for Rehearing.		0.35 hr	35.00
		\$100.00 /hr.		
7/16/08	Copies.		32 @ 0.10 each	3.20
74000		AGB		4.00
//16/08	Printing.		10 @ 0.10 each	1.00
7/4 6/00	De destad Maties for Debessing	AGB	0.3 hr	30.00
//10/06	Re-drafted Motion for Rehearing.	\$100.00 /hr.	0.5 11	30.00
7/16/08	Postage.	\$100.00 /m.	3 @ 0.59 each	1.77
1110/00	T Ustage.	AGB	0 @ 0.03 6461	1.11
7/16/08	Conference with Law Clerk (AGB) regarding N Rehearing, legal research, assisted in drafting	Notion for	0.9 hr	180.00
		\$200.00 /hr.		
7/16/08	Conference with Legal Assistant (NDR) regard		0.1 hr	20.00
	request from opposing counsel for documents	-		
	TMU	\$200.00 /hr.		

.

•

7/16/08	Conference with Law Clerk (AGB) regarding N Rehearing.	Notion for	0.2 hr	40.00
	-	\$200.00 /hr.		
7/16/08	Conference with Law Clerk (AGB) regarding N Rehearing. Review and edit Motion. Tasked Clerk (AGB) to file Motion for Rehearing.		0.7 hr	140.00
	TMU	\$200.00 /hr.		
7/17/08	Filed client pleadings.		0.1 hr	5.00
	AGB	\$50.00 /h r .		
7/17/08	Drafted Motion for Relief from Judgment.		0.3 hr	30.00
	AGB	\$100.00 /hr.		
7/17/08	Tasked Law Clerk (AGB) to draft Motion for R Judgment.	elief from	0.1 hr	20.00
	TMU	\$200.00 /hr.		
7/18/08	Copies		9 @ 0.10 each	0.90
		BEL		
7/21/08	Filed client research and notes.		0.1 hr	5.00
	AGB	\$50.00 /hr.		
7/23/08	Adding Letter regarding Fact Information Shee about case status, and Appellee's Motion to	et, Letter	0.1 hr	5.00
	Supplement the Record to client's corresponde	ence log.		
	NDR	\$50.00 /hr.		
7/23/08	Receive and review Appellees Motion to Supp the Record.	lement	0.2 hr	50.00
	RWB	\$250.00 /hr.		
7/24/08	Adding letter regarding Motion to Compel Disc client's correspondence log.	overy to	0.1 hr	5.00
	NDR	\$50.00 /hr.		
7/28/08	Research consequences of appellee failure to brief.	file reply	0.2 hr	20.00
	AGB	\$100.00 /hr.		
7/28/08	Filed client correspondence and pleadings. Uppleadings index.	pdated	0.2 hr	10.00
	AGB	\$50.00 /hr.		
			Total charges:	\$1,992.44

Total charges: \$1,992.44

· · ·

CASE SUMMAR	<u>XY</u>	
Previous balance:	\$8,007.27	
Total charges:	1,992.44	
Total payments:	0.00	
TOTAL DUE for this Case: \$9,999.71		
You have amounts that are past due.	Please pay.	

Please not that there was time recorded for the hearing on the Motion for the failure to file the Information fact sheet. As it has been determined that was an office error I have tracked out that time and you have not been billed.

. . . .